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(b) Boris wins £5000. ’

He gives % of the money to his wife.

He gives 30% of the remaining money to his children.

What percentage of the original amount does Boris have left?
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(b) Boris wins £5000. ’

He gives % of the money to his wife.

He gives 30% of tlie remaining tponey to his children. Z%OO
SEie
What percentage of the original amount doeg/Boris have left?

e =L e

Whfe st
. 5L

)S/ OHSOOO = £(000. D). O%Z&OOO _ 5

=£ 100
Qemqminix 2 leloe

left #5000~ 1100 - 000
= £2%00
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(b) There are 120 people in the evening.
A buffet is ordered for 85% of these people.

For how many people is the buffet ordered?
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(b) There are 120 people in the evening.
A buffet is ordered for 85% of these people.

For how many people is the buffet ordered?

S 1 oqﬁ 20
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4 This diagram shows how a council disposed of waste in 2016.

The total amount of waste was 500 thousand tonnes.

A (a) How much waste was recycled?

300

BB i thousand tonnes [1]

200+

Amount of
waste
(thousand
fonnes)

Recycled Combusted Sent to
for energy landfill

(b) The council had a target to send less than 30% of the waste to landfill in 2016.

Did the council meet its target in 20167
Justify your answer.
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4 This diagram shows how a council disposed of waste in 2016.

The total amount of waste was 500 thousand tonnes.

A (a) How much waste was recycled?

(a) QSO ........ thousand tonnes [1]

Amount of
waste
(thousand
fonnes)

Recycled Combusted Sent to ==
for energy landfill

(b) The council had a target to send less than 30% of the waste to landfill in 2016.

: . . : \ ‘
?J:t?yeymnai'smzﬁt its target in 20167 JO{,f‘ C% {OO /VO/ f J,,Q S@f}(‘ 32 /
Not 30/
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12 (a) Three schools provide this information.
. % of the pupils at Harwood are girls.
*  42% of the pupils at Crompton are girls.
*  The ratio of girls to boys at Astley is 4 : 5.

Write the schools in the order of their proportion of girls, lowest to highest.
Show how you reached your answer.
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12 (a) Three schools provide this information.

. % of the pupils at Harwood are girls.
*  42% of the pupils at Crompton are girls.
*  The ratio of girls to boys at Astley is 4 : 5.

Write the schools in the order of their proportion of girls, lowest to highest.

ow how you reached ycmeb
Ha rwood Crompbﬂ ASUg:j

lowest
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Karen made 40 cakes.

She gives % of the cakes to Andrew.

She gives 10% of the 40 cakes to Chris.

What fraction of the 40 cakes does she have left?
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Karen made 40 cakes.

She gives % of the cakes to Andrew.

She gives 10% of the 40 cakes to Chris. &O e fil R

What fraction of the 40 cakes does she have left?
Rrdlcgws )g' ol 0 = <
L




6

Work out 17% of 54.
Give your answer correct to 1 decimal place.

Video created by W Neill

-----------------------------------------------------------



6

Work out 17% of 54.
Give your answer correct to 1 decimal place.

[77. = C%|&
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-----------------------------------------------------------
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(b) Lillian decides that she is going to work 7 hours each day for only 4 days a week.
Her earnings are to be reduced by 20%.
Lillian thinks that this reduction is reasonable.

(i) Explain why a reduction of 20% is reasonable.

-------------------------------------------------------------------------------------------------------------------------------------------

(i) How much will Lillian earn working 4 days a week?

(D)) £ oot [2]
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(b) Lillian decides that she is going to work 7 hours each day for only 4 days a week.
Her earnings are to be reduced by 20%.
Lillian thinks that this reduction is reasonable.

(i) Explain why a reduction of 20% is reasonable.

(i) How much will Lillian earn working 4 days a erk?

£420 - 207 Wao | BXL23s
0. = £42 ;//g’%"
70/. = 1RU 33




10 60% of the people in a town are males. Created by W Neill
20% of the males are left-handed.
21.6% of all the people are left-handed.

Work out the percentage of the people who are not male who are left-handed.



10 60% of the people in a town are males. Created by W Neill
20% of the males are left-handed.
21.6% of aII| the people are left-handed.

Work out the percentage of the people who are not male who are left-handed. LH
21.6/. o (000
Town = (000 pecple
L P 2L el hond
Male \:?MCI|€
OO LOO
P 2 5
RH \LH RH LH
L{%O izo 3 26 - 70 —7626 LH F?mcfé’j
/Femqlﬁ LH -'/CL(;’/ B
4oo Ll /
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18 A number of students go on a coach trip.

The cost of hiring the coach 1s £180
The school pays 80% of this cost.
The students pay the rest of the cost.

Each student pays £1.50

Work out the number of students on the coach trip.

(Total for Question 18 is 4 marks)
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18 A number of students go on a coach trip.

The cost of hiring the coach 1s £180 fl 50 ¢ |Fudat
The school pays 80% of this cost. 2<t dedts £ 0\ 2 4
The students pay the rest of the 6 43 S eakis qu 7,[ g

)( X\
Each student pays £1.50 > 434 =7l Stededs S
;s | d 5 , 2s
Work out the number of students on the coach trip. = 72
[ <

(Total for Question 18 is 4 marks)



Mary. Bianka and Steve are picking apples.

Mary picks 264 apples.

1
3 of these apples are green.

Bianka picks 150 apples.
28% of these apples are green.

Steve picks 340 apples.
15% of these apples are green.

Who picks the most green apples?
You must show all of your working.

Created by W Neill

(Total for Question 7 is 4 marks)




Mary. Bianka and Steve are picking apples. Created by W Neill

Mary picks 264 apples.

| Joof B - L

e of these apples are green.

Bianka picks 150 apples. ~ B
28% of these apples are green. 28/. CHL (58 = b2

icks 340 apples.

15% of these apples are green. 2 O,P SO =5

Who picks the most green apples?
You must show all of your working.

S&@t/e Co”C’CPS moSP jreeq
QPPfQS/

(Total for Question 7 is 4 marks)
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18 Claire buys a new car for £5700

She pays a deposit of 12%
She then pays the rest of the cost in 15 equal monthly payments.

How much is each monthly payment?

(Total for Question 18 is 3 marks)




18 Claire buys a new car for £5700

Created by W Neill

She pays a deposit of 12°
She then pays the rest of the cost 11 15 equal monthly payments.

How much is each monthly payment?

0 o £S700 = 2Ll
Owes £5700 - 7680,

mon{'L\B [ ébOMD“‘ ‘b

= £<ol4,

(Total for Question 18 is 3 marks)
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16 Which 1s greater
R7 30% of 30 or 28% of 32 ?

You must show your working.

(Total for Question 16 is 3 marks)




16 Which 1s greater

R7

30% of 30 or 28% of 32 ?

You must show your working.

RO o]( (&

=T

Video created by W Neill

7% ). of %2
& K9k
9> g-a(

5030/ 07L 0 s jf@c&c)r/

(Total for Question 16 is 3 marks)
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17 Jamal has some counters in a bag.

R7 36% of the counters are red

the rest of the counters are yellow

Jamal puts 50 blue counters into the bag.
Now 25% of the counters 1n the bag are blue.

Work out the number of yellow counters in the bag.

(Total for Question 17 is 3 marks)
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17 Jamal has some counters 1n a bag.

R7 36% of the counters are red p\ >/ %
the rest of the counters are yellow
=> Jamal puts 50 blue counters into the bag. I S O S O
Now 25% of the counters 1n the bag are blue.
- blue
Work out the number of yellow counters in the bag. 75 / 2 S a

W 37 ok IS0 = SG %:T/

Vellow = 150
I

/_

ﬁé (Total for Question 17 is 3 marks)
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5 Work out 60% of 70

(Total for Question 5 is 2 marks)
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5 Work out 60% of 70

0/, o{- 70 = +

" @ =" 2%

S (07, = b

(Total for Question 5 is 2 marks)
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18 Daniel bakes 420 cakes.

He bakes only vanilla cakes. banana cakes, lemon cakes and chocolate cakes.

% of the cakes are vanilla cakes.

35% of the cakes are banana cakes.
The ratio of the number of lemon cakes to the number of chocolate cakes is 4:5

Work out the number of lemon cakes Daniel bakes.
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18 Daniel bakes 420 cakes.

He bakes only vanilla cakes. banana cakes, lemon cakes and chocolate cakes.

% of the cakes are vanilla cakes.

35% of the cakes are banana cakes.
The ratio of the number of lemon cakes to the number of chocolate cakes 1s 4:5

Work out the number of_lg_n;_gg_g_aj_cgs Daniel bakes.

_!@M __]-_6_'_MOr\ ond choe G0 -120 -I47 = [SR

Z of 420 = (10 B
53 @ZS

banang
DananG

357 0f 40 <[7 4

7 - ch(f”
- Q b8 lpads Q XY 6%/

, [S2 = G pads
jr f
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There is a special offer. Y

T-shirts £5.80 each.

Buy 30 or more T-shirts.
Get 10% off the total cost.

(b) Work out the actual cost of buying 35 T-shirts using the special offer.

(Total for Question 16 is 5 marks)
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There is a special offer. Y

T-shurts £5.80 each.

Buy 30 or more T-shirts.
Get 10% off the total cost.

(b) Work out the actual cost of buying 35 T-shirts using the special offer.

£580 X3S 50 07 of £203 = £2030
N 85 e
2900 { JoZ.00
I17‘L|'OO = 2050

g 18270

(Total for Question 16 is 5 marks)
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15 Mr Page uses oil to heat his home.

At the beginning of November there were 1000 litres of oil in his oil tank.

Mr Page bought enough oil to fill the tank completely.
He paid 50p per litre for this oil.
He paid a total amount of £750

At the end of February Mr Page had 600 litres of oil in the tank.
He bought enough oil to fill the tank completely.
The cost of o1l had increased by 4%.

Work out the total amount Mr Page paid for the o1l he bought in February.

(Total for Question 15 is 5 marks)




15 Mr Page uses oil to heat his home. Created by W Neill

At the beginning of November there were 1000 litres of oil in his oil tank.

Mr Page bought enough oil to fill the tank completely. _Eéb_ 6 oo L l‘-’g E
He paid 50p per litre for this oil.
He paid a total amount of £750 Uﬁed SRl = EOO(- = ( C?OOL

At the end of February Mr Page had 600 litres of oil in the tank.
He bought enough oil to fill the tank completely.
The cost of oil had increased by 4%.

Work out the total amount Mr Page paid for the oil he bought in February. SOP s ibre. = /UQU
2S00l

Nov - {_ﬂ_ = looo L b. of Sop = 2p

New §2lo
_{;«“5 E D SOP pr lLre Spend £750

= ! end
% of ZS';%;E: |SooL éeﬁs—
N —_— o
£0-S2 X |900L

when ks \Ql\ - _Z_S_o_o(, _____/qgg
. 9488

(Total for Question 15 is 5 marks)
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15 Work out 15% of 160 grams.

QF

O,

(Total for Question 15 is 2 marks)
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15 Work out 15% of 160 grams.

QF

LB

0/ = |b G S
S/.o- % 3@“5

2% g an

(Total for Question 15 is 2 marks)

... grams
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23 Raya buys a van for £8500 plus VAT at 20%

3 Raya pays a deposit for the van.
(/I3 She then pays the rest of the cost in 12 equal payments of £531.25 each month.

e
Find the ratio of the deposit Raya pays to the total of the 12 equal payments.

Gi1ve your answer 1n 1ts sumplest form.

(Total for Question 23 is S marks)
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Raya buys a van for £8500 plus VAT at 20%

3 Raya pays a deposit for the van.
(/I3 She then pays the rest of the cost in 12 equal payments of £531.25 each month.

e
Find the ratio of the deposit Raya pays to the total of the 12 equal payments.

Gi1ve your answer 1n 1ts sumplest form.

Uon tosk ) pgmels
1450040/, \ {S3128 X\1

1 11100 ZL3TS
= #1000

(Total for Question is 5 marks)
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22 A bonus of £2100 1s shared by 10 people who work for a company.
40% of the bonus 1s shared equally between 3 managers.
22 The rest of the bonus 1s shared equally between 7 salesmen.

R8 One of the salesmen says,
“If the bonus 1s shared equally between all 10 people I will get 25% more money.”

Is the salesman correct?
You must show how you get your answer.

(Total for Question 22 is S marks)
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22 A bonus of £2100 1s shared by 10 people who work for a company.
40% of the bonus 1s shared equally between 3 managers.
22 The rest of the bonus 1s shared equally between 7 salesmen.

R8 One of the salesmen says,
“If the bonus 1s shared equally between all 10 people I will get 25% more money.”

Is the salesman correct?

You must show how you get your answer. I g O eqc{,\ S6 ngqn ﬂefs —f RO

&0/ af {200 (, ;;’ - lZEO“j £ chered é'?vcl 107, o}£200
. £2(0 gLo = f200 -

Lll?f- - £ 860 | 700 ~ 7 glesmen | 79 ([/) Z1&0 - Z4LS

£ he ot 2g/. mere - figo+ELS = £225
No ke is nck correct GS%ZZYC Z/Zfd?

(Total for Question  is S marks)
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11 Adam gets a bonus of 30% of £80

Katy gets a bonus of £28

R7
Work out the difference between the bonus Adam gets and the bonus Katy gets.

(Total for Question 11 is 3 marks)
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11 Adam gets a bonus of 30% of £80

Katy gets a bonus of £28

R7
Work out the difference between the bonus Adam gets and the bonus Katy gets.

(Total for Question 11 is 3 marks)
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18 Trevor buys a boat.

The cost of the boat 1s £14 200 plus VAT at 20%

R7
N13 [revor pays a deposit of £5000

He pays the rest of the cost in 10 equal payments.

Work out the amount of each of the 10 payments.

(Total for Question 18 is 4 marks)
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18 Trevor buys a boat. ”0(;4( k-
The cost of the boat 1s £14200 plus VAT at 20% \ B>
R7
N13 Lrevor pays a deposit of £5000 > “J( 00 + /¥ LO

He pays the rest of the cost in 10 equal payments.

= £17040

Work out the amount of each of the 10 payments. E: —
o depo S OO

/1 100 + 20/ - A
siior” % Z100U6

20/ ol £14700  \puyrok
= £104

= £78LD I ow

(Total for Question 18 is 4 marks)







6 (a)

(e

e}
£30

500 people are asked if they drink coffee.

<
— say Yes.
10 ¥

20% of the people who say Yes drink at least three cups each day.

Complete the frequency tree.

Drink coffee

At least
three cups
each day

[4 marks]

Video created by W Neill



6 500 people are asked if they drink coffee. Video created by W Neill

9
10 say Yes.
e
20% of the people who say Yes drink at least three cups each day. /6 O’F boo SOO::(O
[/ S 2o
6 (a) Complete the frequency tree. (O v O
[4 marks]
ﬂl-l(ﬁ. q/
Drink coffi At least =

ﬂ\q' rink cotlee threee:jps to 4 g)
P 20 each day

207. oj, LSO
07 = &S
0. - 40

4SG - 90 = 3O




21
N3
Qt

Billy wants to buy these tickets for a show.
4 adult tickets at £15 each
2 child tickets at £10 each

A 10% booking fee is added to the ticket price.
3% is then added for paying by credit card.

Work out the total charge for these tickets when paying by credit card.

Answer £

Video created by W Neill

[5 marks]




N3
Q?

Video created by W Neill

Billy wants to buy these tickets for a show.

4 adult tickets at £15each X % 6 O gg P
2 child tickets at £10 each £ 2.0 M
2 Zie™

A 10% booking fee is added to the ticket price.
3% is then added for paying by credit card.

Work out the total charge for these tickets when paying by credit card.
[5 marks]

Lickets - £€0 2y of £
10 = £80+4% 3((‘/. = £0-8R
O3 = 7264
“16C g
Answer £ % C? O ) 6(-(’ ,V/




12 (c) The table shows Lee's costs. Video created by W Neill

RF

Ingredients 15% of sales

Fuel £7 per day

Work out his total profit for the five days.
[5 marks]

Answer £




12 (c) The table shows Lee's costs.

RF

Ingredients 15% of sales

Fuel £7 per day

Work out his total profit for the five days.

Ules = £600

[5 marks]

lnacecients = (S /. of £660 = qu

,{&J@\ - Sb(f'?‘ = %ES'

Cosks = Ga 125 = £

Prokl = (60 - 134

Answer £ g 2 6

Video created by W Neill




18 Ellen works for a company that sells cars. Video created by W Neill

Her monthly pay is
e asalary of £1470
i3 i

(S

o 28% of the total profit the company makes from her sales

e a£250 bonus if she sells at least 15 cars.

The table shows information about the cars she sold last year.

Total cost Total income Number of months when
to the company for the company she sold at least 15 cars
£464 500 £538 000 3

Was Ellen’s total pay for the year more than £40 000?
You must show your working.
[6 marks]

Answer




18 Ellen works for a company that sells cars. Video created by W Neill

Her monthly pay is Sq[qr\j ] %ﬂﬁOXlQ

Nl e asalary of £1470

R-} o 28% of the tote company makes from her sales :‘g r 7 é O{ O

e a£250 bonus if she sells at least 15 cars.

The table shows information about the cars she sold last year. 28 / (,__
. of prof
Total cost Total income Number of months when i
to the company for the company she sold at least 15 cars 28 / O7L 7 g SO O
@ SOD - @38 000 ) 3
\.\_______,,_..-—'\______._:v) =

= F70SRO
Was Ellen’s total pay for thore than £40 0007
You must show your working. /g i ’3 é
[6 marks] ON [/S il )( ZS O

= 138970/

Answer /Uo, 38 670 = (1@1 OOO




15

R7

In a test,
Section A has 80 marks
Section B has 120 marks.

Riya scores
55% in Section A
70% in Section B.

To pass, Riya needs to score 65% of the total marks.

Does she pass?
You must show your working. [4 marks]

Answer

Video created by W Neill
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R7

Video created by W Neill

In a test, 05
Section A has 80 marks mé}l" 1(5 ,
Section B has 120 marks. .
“Tekal 200marks Setkionk > 55 of EOmarks
Riya scores B
55% in Section A M" marks
70% in Section B. sﬂkior\ B = 70/. 01[ 170 MG/J(S
To pass, Riya needs to score 65% of the total marks. : %L‘ mq'/{'( >
Does she pass? /G?E‘%( & (*[_Y _(,g& . (zgmaff/s
You must show your working. [4 marks] e
éS'/- ol 200 mc:(}(S‘ ng .
f = BB
| 20 marts needed fo <
2
S U .
psss 0.0 She cloesn [

doesa '

1303 (2(& Answer 6({ 7 e éj\/\



5 (a) Shade % of this grid.

N35 [1 mark]

5 (b) Shade 10% of this grid.

R7

[1 mark]




> (a)

N35

5 (b)
R7

Shade % of this grid.

[1 mark]

=
aza az

cwjg

Shade 10% of this grid.

W

[1 mark]

0/ O,F 20

O



26 Investment A Save £150 per month for 2 years.
2.5% interest is added to the total amount saved.

R7
R11

Investment B Invest £3500

Compound interest is added at 3% per year.

After 2 years, how much more is investment B worth than investment A?
[4 marks]



Investment A Save £150 per month for 2 years.
2.5% interest is added to the total amount saved.

R7
R11

Investment B Invest £3500

Compound interest is added at 3% per year.

After 2 years, how much more is investment B worth than investment A?

b 2150 X A months IS
= £2L00)

[4 marks]

200 X }.032

257 of %00 = 490 ={37131S
A £371315 - 3690

= 5600+90 = 355 =425




13 A charity sends an appeal letter to 3000 people. e

The letter asks for a donation of money.

Here is some information about the last appeal letter the charity sent out.

% of the people who were sent the letter made a donation.

The average donation was £8.60

% of the people who made a donation filled in a tax form.
The government adds 25% to the donations of these people.
13 (a) Using this information,

work out the amount the charity can expect to receive from this appeal.

R4a ——
R7 [6 marks]

Answer £




13 A charity sends an appeal letter to 3000 people. VigesiceonterppuiEien

The letter asks for a donation of money.

Here is some information about the last appeal letter the charity sent out.

1 ! :
5 of the people who were sent the letter made a donation./ gooo - ’2 ~ { SOO Pé"’fdf
The average donation was £8.60 [ SO @, )( ,zg_ % EO — g [ ’2 4900

% of the people who made a donation filled in a tax form.

J —
The governmethe donations of these people. /5 O‘F (B (e 8 S}? O Péop\ ¢
13 (a)  Using this information, 257/ O{' ég b0 = g?fg

work out the amount the charity can expect to receive from this appeal. s
R4a SRR PP £(075
[6 marks]

R7 Ta[:ql gx{)@(ked - \’ZC?OO + 075
Answer £ lgq?g
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9 (c) The company sells three houses.
The prices are £185 000, £239 000 and £136 000

The company earns 2% commission on each house.

R7

In total, how much commission does the company earn on these three houses?
[3 marks]

Answer £
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9 (c) The company sells three houses.
The prices are £185 000, £239 000 and £136 000

The company earns 2% commission on each house.

R7

In total, how much commission does the company earn on these three houses?
[3 marks]

2. o} £igs,000 2/, o 4239000 | 2/ ¢} (k000

73700 780 t2720

anever EZZ WZOOV/
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25 Doug owes an amount of £600
He wants to pay back this amount in five months.
R7 He says,
2?10 “Each month, | will pay back 20% of the amount | still owe.”

Show working to check if his method is correct.
[3 marks]



25

R7
R9a
R11

Video created by W Neill

Doug owes an amount of £600
He wants to pay back this amount in five months.

He says,
“Each month, | will pay back 20% of the amount | still owe.’

3

Show working to check if his method is correct.

st 207 nd weath
100 -no

5
=1L 20 16500 X 0% =Z1aL

SO wen s

e hﬁ“’? r‘é' qucy{.

[3 marks]
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16 The value of y is 20% more than the value of x.

Circle the ratio - ey 7
i [1 mark]
R13



16

R7
R13

The value of y is 20% more than the value of x.

Circle the ratio - ey 7
> Y
QC” lOO
(00 =120

Video created by W Neill

QO./. O(,S Fa (

[1 mark]



